THIS DRAWING IS UNPUBLISHED.

RELEASED FOR PUBLICATION

@ COPYRIGHT -

ALL RIGHTS RESERVED.

AMP, PART NUMBER & DATE
CODE INK STAMPED OR LASER MARKED
EITHER SIDE

AN |

2.050+£.030

, —

gyuI

L]

+.015

,,A 27
2 PLCS

1.62+£.04

AN |

7

REVISIONS
P LTR DESCRIPTION DATE DWN APVD
F5 | REVISED PER ECO-16—004000 28seP2016| NK | MZ
G | REVISED PER ECR-17-002064 28FEB2017| RS | MZ
REVISED PER ECO—17-009474 29JUN2017| RS | MZ

PARTIALLY ASSEMBLED.

FOR —8 ONLY

_p

FOR —7 ONLY

DIMENSIONS:
INCHES

@

TOLERANCES UNLESS

R.STONE

1
(7 ) A DIMENSION APPLIES AT BASE OF BEND.
CDNED
N PA AN/ A ALL ITEMS BULK PACKAGED SEPARATELY
S r\5°~/@ WITHOUT INK MARKING.
AT T
SOy K LD A PRELIMINARY PART NO.
;}Vxﬁ}r*
K S FINISH: ZINC PLATE WITH HEXAVALENT CHROMATE.
DK D K A FINISH: ZINC PLATE WITH NON—HEXAVALENT CHROMATE.
YA N AN
M{_}{}sg__}{} /7\ OBSOLETE PARTS: OBSOLETE CIS STREAMLINING
s ;gggggg PER D.RENAUD/D.SINISI
R D R
NZINVIAND,
HO6
Nxdads=/
OBSOLETE[1.530 | .1491—.2336 2435208
e@ OBSOLETE|1.530 | .1491—.2336 EFETrra
OBSOLETE[1.530 | .1491—.2336 243522 —6-
7NOBSOLETE[1.225 | .1491—.2336 243520 &5
OBSOLETE[1.530 | .0314—.0707 243522 4
/N /A 7NOBSOLETE[1.530 | .1491—.2336 2435223
IN/N AN N 1.530| 1176—.1643 213522—2
Tt 1.530| .1491—.2336 2135221
D D D D D D DIM Al  sSUrRE INoHES PART NUMBER
S| ) | | |
OO0 IO0I0I0
21%](%][%]1%]%)
MMM MM
OO0 I0I0
RECEPTACLE HOUSING, MOD
'] — — — — — — _ ’
2 FEMALE JACKSCREW PHENOLIC,BLACK 13
— [ —4]-]-1-]-]-] SCREW, #4—40, .250 LONG 12
—[=J2]=-1-1-1-1-] SCREW, #4—40, .375 LONG [ STEEL, PLATED ZINC 11
—[=[1]1]=1-1-1-] SHIELD, SHORT/SHORT ALUMINUM, ANODIZED 10
— [ -]=1=-12]-]-]-] CABLE CLAMP STEEL, PLATED ZINC 9
4 14| —14 |4 |44 |4 ]| SCREW, #4—40, .250 LONG | STEEL, PLATED ZINC 3
212 |-12]12|2|2]|2| SCREW, #4-40, .375 LONG | STEEL, PLATED ZINC /
—=1=1=1-1-12]~] CABLE CLAMP STEEL, PLATED ZINC 6
221212 -12]—=]2] CABLE CLAMP STEEL, PLATED ZINC 5
2 =] 1] 1] 1] 1] 1]1] JACKSCREW, FEMALE STAINLESS STEEL 4
— (27111717 17]1] JACKSCREW, MALE STAINLESS STEEL 3
11 == 11 [1]7] SHELD, SHORT ALUMINUM, ANODIZED 2
— [ 111717 17]17]1] RECEPTACLE HOUSING, MOD | PHENOLIC,BLACK 1
—8|—7|—-6|5|-4| | —2|—1 DESCRIPTION MATERIAL o
THIS DRAWING IS A CONTROLLED DOCUMENT. Z:%.ERDMAN ::::: —:TE TE Connectivity

OTHERWISE SPECIFIED: APVD — | NAME

0 PLC
1 PLC
2 PLC
3 PLC
4 PLC
ANGIES

HHHHH
[ I I |

+

PRODUCT SPEC

APPLICATION SPEC

KIT ASSEMBLY, RECEPTACLE,
34 POSITION, M SERIES

MATERIAL
SEE TABLE

FINISH

SEE TABLE

SIZE | CAGE CODE | DRAWING NO

WEIGHT _ A2 00779 @,:,21 35992

RESTRICTED TO

CUSTOMER DRAWING

SCALE SHEET

2:1 1 o]

REV

H

1471-9  (1/15)

w [213522




T Life

Hu1Boe NapTHEPCTBO

000 “/1aiipINeKTPOHUKC” “LifeElectronics” LLC

MHH 7805602321 K 780501001 P/C 40702810122510004610 ®AKb "ABCO/IOT BAHK" (3A0) 6 2.CaHkm-Ilemep6bypee K/C 30101810900000000703 EUK 044030703

KomnaHus «Life Electronics» 3aHumaemcsi nocmaskamu 351€KmMpPOHHbIX KOMITOHEHMO8 UMIOPMHO20 U
omedyecmeeHHo20 rpouseodcmea om npoudeodumernel u co ckrnados KpyrHbix ducmpubbomopos Esporibi,
AMepuku u Asuu.

C koHua 2013 200a KoMraHusi akmueHo pacwiupsiem fuHelKy MocmagoK KOMIOHEHMO8 0 HarnpaeneHuo
KoakcuarbHbIl kabesb, Keapuesbie 2eHepamopbl U KOHOeHCcamopbi (KepaMuyeckue, nieHoYHbIe,
3neKmposiumuyeckue), 3a cuyém 3akntoyeHuss ducmpubbromopcKux 002060p08

Mbi1 npednasaem:

o KoHKypeHmocnocobHbie UeHbl U CKUOKU MOCMOSIHHbIM KITUeHmMam.

e CrieyuarsnbHbie ycrio8usi 07151 TOCMOSIHHbIX KITUEHIMO8.

e [lod6op aHarnoeos.

lMocmaeky KomMrnoHeHmMo8 8 ftobbix obbemax, y0oernemeopstouUx eawum MompebHoCMSsM.

lpuemnembie cpoku nocmasku, 803MOXHa yCKOPEeHHasi mMocmaska.
Locmaeky mosapa & ritobyto moyky Poccuu u cmpaH CHI™.
KomrinekcHytro nocmasky.

Pabomy no npoekmam u rnocmasky obpa3syos.

®opmuposaHue ckiada nod 3akaszyuka.

Cepmucgbukambl coomeemcmeus Ha rnocmassnseMyro npooyKyuUto (Mo XenaHu KueHma).
o TecmuposaHue nocmasnsemMou npodyKyuu.

e [locmasKy KOMMOHEHMOo8, mMpebyruux 806HHYIO U KOCMUYECKYH MPUEMKY.

e  BxodHoli KOHMposib Ka4yecmea.

e  Hanu4yue cepmugpukama I1SO.

B cocmaee Hawel komnaHuu opeaHu3oeaH KoHcmpykmopckuli omderst, npu3eaHHbIl MomMozamb
paspabomyukam, U UHXEHepaM.

KoHcmpykmopckuli omOen nomoaaem ocyujecmseums:

Pezaucmpauuro npoekma y npousgooumersisi KOMIOHEHMOS.

TexHu4eckyro no0depXKy rnpoekma.

Bawumy om cHaMuUs KOMroHeHma ¢ npoussoocmea.

OueHKy cmoumocmu fpoeKkma ro KOMIOHeHmam.

U3ezomoerneHue mecmosol rnnambl MOHMaX U ryckoHanadoyHbie pabomeil.

lattis % A g nncen TP intessil, Panasons (T U170 ATEL AMDIN EEEs

0KI ﬂ_[ [ SANYD Quaoww RENESAS  SIEMENS SHARP _ ’[:E”"—:,l
g Sy, [IE moxm s U AT €N [qaL

BOURNME

NS 7, Citwbond DALLAS Meare  Gllegns (inteD e | ™ RONM
International . . — .
..-nﬂm.n._,,.,_ w@ TosHiga ZETEX 'niemalofa Amphenol élantec uichicon FU]ITSU

Viccn 5, e Y Sice . @ su@ N [BTOKO

Ten: +7 (812) 336 43 04 (MHO20KaHANbHbI)
Email: org@lifeelectronics.ru

www.lifeelectronics.ru


mailto:org@lifeelectronics.ru
http://lifeelectronics.ru/

